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AT 7597 :
G)  @ut e srHar & |
(i) Y% J97 & 3P 3G g7 2T 7T 7 |

(i) ¥o7 @& 1 @ 5 3fd T I FHR & Fo7 & | 379 IAF Jo7 1 3% 37 3 |
570 & 9% &7 I 15 Ieq] G 37fers 7 51 |

(iv) 97 &I 6 @ 10 T IR JHR & Yo7 &8 | 377 Jd% J97 2 371 &1 & | 5789
g 9% &7 I 50 Isg] & 371 7 &1 /

(v) FTFEIT11 G 17 T I/ JFR & J97 & | $79 Fe9% 97 8 311 &7 8 | 5780
g Y% 1 I 75 Vegl @ e 7 8/

(vi) I97 G&IT 18 G 21 TG I IR & J97 8 | 379 JeI% o7 4 371 F1 & | 578
g g% 7 I 150 VsG] @ 371 7 51 |

(vii) ¥97 &7 22 8 24 I R YFR & 97 & | 377 I9% 97 6 bl F 8 | 578
g e #T I 250 el & 31 7 8 |

General Instructions :

(i) All the questions are compulsory.
(it)  Marks are indicated against each question.

(iti) Questions No. 1 to 5 are very short answer type questions, carrying
1 mark each. Answer to each of these should not exceed 15 words.

(iv)  Questions No. 6 to 10 are short answer type questions, carrying 2 marks
each. Answer to each of these should not exceed 50 words.

(v) Questions No. 11 to 17 are short answer type questions, carrying 3 marks
each. Answer to each of these should not exceed 75 words.

(vi)  Questions No. 18 to 21 are short answer type questions, carrying 4 marks
each. Answer to each of these should not exceed 150 words.

(vii) Questions No. 22 to 24 are long answer type questions, carrying 6 marks
each. Answer to each of these should not exceed 250 words.

1. U fFdl @ TR & @ R ST N S Scae-ges fovrr |
USHeR0T ITed <hEAT BIdT 3 | 1

List any two categories of persons that are required to obtain registration
from ‘Central Excise Department’.
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2.  ‘GgEl Hl GAAT o TGN W FYH Sl HEH! 91 GYH fog aNaR SHewm 1§
IR HINT | 1

Distinguish between a ‘Joint Stock Company’ and a ‘Joint Hindu Family
Business’ on the basis of ‘liability of its members’.

3. WM % Sadd 98 7 UH JEgERad 90 % 9] H " AH fesiet 6l
ATl &l USdl | I8 UH YFieul-fEaesrt =X, S iHA § 3ve qen gfda o
T T, o A0 & fo=R 1 qd 9 <1 918dr o | 36eh 71 H 98 =R 2010
T 3R ifehd 31fd 3cd1g 4 2014 § AR UEW R | IWdh uiwal | afvfa
‘g Sishan shi feufa w1 A FaTsy | 1
Balwant Singh of Bikaner thought of air-conditioned houses which do not
require electricity. He wanted to explore the idea of construction of such
eco-friendly houses which will remain cool in summers and warm in
winters. He conceived the idea in 2010 but the final product could take

shape in 2014. Name the stage in “The Creative Process’ described in the
above lines.

4.  ‘urftfeartaes qafewor w1 319 dfSu | 1

Give the meaning of ‘Ecological Environment’.

5. AT 1 T U0 Toh Hall 3cTeeh & | 98 Teh SIS S 3G hardl & HiAT
TrEar 3 fEd 39 g qen 3Heh @refi Tia-aral g 3cdTied Hall Sl SUAM
foren ST | 39 forfia wxa 1 AW Sase R o Bad 3% FE & fae
RO I i 7 39 HIh AT ALY | 1

Geeta Ram, an orange grower from Nagpur, wants to start a small juice
producing factory using the oranges grown by him as well as by his fellow
villagers. Name the financial institutions he should contact for obtaining
loan for starting his factory.

6. &g [yl & fordl & Fml o1 Seog HifST | 2

State any two rules for goal setting.

7.  fouom foisH & =won & w9 § ‘saranfes feufa fagamer qen ‘@fera sem fi
T w1 319 dfu | 2

Give the meaning of ‘Business situation analysis’ and ‘Identification of
the target market’ as steps in preparing the marketing plan.
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8.  UZA Uk BIC WA T AT M hl Hardl & HLAT AT8d1 8 | SAEHRIS IS
% Tsh YN o &9 § 304 ‘HASeh T3S 3 1 Hiflges aal aIr <hl, frEent
3L §gH I® w1 qu1 qurfad frewmeel # fafgd yeeH @ qed & o st
3T HET A1 | IUYH AT § Heid AFETe AN UEd i uga™

shifere qom 38 THesT | 2

Rahul wants to start a small shoe manufacturing factory. As a part of his

business plan he prepared an ‘entertaining slide show and oral narrative’
that was meant to trigger discussion and create interest in potential
investors for reading the written presentation. Identify and explain the

format of the business plan referred in the above paragraph.

9. {L% H 3= ‘of<w aREAT (end lines), ‘SIf=HARFAT (endlines) 7@
‘@‘1?11378’ (straplines) <hal SITdl % | STHA 3% ‘?{Iﬁ’ (claims) Wﬁ %, T
32 ‘g (signatures) hgd %, Sefer dfceam & A 3= ‘YR A
(base lines) %gd @ | 39 STAYRUN <hl Ug= <hIfGT AT 39k Th[ & AW
AT | 2

In U.K,, they are called ‘end lines’, ‘endlines’, or ‘straplines’. Germans call

them as ‘claims’, French refer them as ‘signatures’, while Belgians call

them ‘base lines’. Identify the concept and name its forms.

10. 3T Hdl HUG Y SIS o AW W A EI @ | IW SAEEIIH Tdfaie h
TgaH SHIfT fSH 3Teleh §a 8 | 3T gRI g hl T3 ITAINTal &1 419 i
FATST qAT SHeh! THHTST IfvrT | 2

Ashok is engaged in the production of readymade garments using cotton

cloth. Identify the business activity in which Ashok is involved. Also
name and define the utility created by Ashok.

11. ‘O9& Yg9 8 1 MU 8 2 $Heh foheal ol el ol oo shifog qe
“GuE YgEE i Ush 3gTatun ot ST | 3

What is meant by ‘Problem Identification’ ? State its any two objectives

and also give an example of ‘Problem Identification’.
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12. 3194 T4 % fqara™ 8§ aRedl Sl Sl g% T L o qvE HAF J T e
% U % Hed H R oS A TE. § sawiie & uigmshd O YAy o fomEn |
SAFAIRA <l I8 QU T % TG I TLHM bl o iy shl hITITT
g 98 39 &I fireft | ufie 3ue & % U STH-0H SAwIREA % U gk
%1 BRI H 1 Fo ohar | 3T WY g1 9Nl dh BRI B b GwET HAH A
AH Ta § AHINEA B ghEE @ied w1 fl fe | s e sw
T 10,000 % IUEHR A TohT q1 T 2,000 Ufd A8 6 foRr T T ghM ol |
3G T g I TSGR |

(%) W g Y& FhT TT ATaETTRh e % JehR h TEEH HINT |
(W) YA U SATaETReh Hiled hi fohrgl IR faRivaisti =1 e hifvg | 3

Kareem after completing his XII class from his village school joined the
course of electrician in an ITI in a town near his village. On completion
of this course he tried for a government job but could not get the same.
He, therefore, decided to work as a helper to a renowned electrician of the
area. After working with him for two years he decided to start his own
electrician shop in the village. For this he purchased equipments of
¥ 10,000 and hired a shop at a monthly rent of ¥ 2,000. He himself
managed the shop.

(a)  Identify the kind of business organisation set up by Kareem.

(b)  State any four characteristics of the identified form of business
organisation.

13. 7o fgfo i @ra smr fafy o i 1 Seog i | 3
State the advantages of ‘cost plus’ method of pricing.

14. USq fomes aon STw dSi U STl o fow o wehiEa o % 9 Eid § |
ST hl TR I I8 3T § gk H dTehl Teh [OINaT i feaiigd Hid
gY GHHATRT | 3
‘Angel Investors’ and ‘Venture Capital’ are the two sources of raising

finance for an entrepreneur. Explain the concept of both the sources
stating one distinguishing feature of each.
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15. 3179, 2014 ! GAT §Y IY % G (SHES HUSI hl Teh Fhl g 4l W0
3 5,000 HHIS T 200 Ifd HHIS i e T = | ST qAT AT Aed WA <kl
AN T 1,000 S 37MEW B | Wik 1 WA H v T 250 Uhd 99 7 | G o
% o ‘Trqesrft e1re AEn’ <6t o i | 3
‘The Shop’, a readymade garments retail shop, sold 5,000 shirts at ¥ 200
per shirt during the year ended 315* March, 2014. Cost of placing an

order and receiving goods is ¥ 1,000 per order. Inventory holding cost is

T 250 per year. Calculate the ‘Economic Order Quantity’ for “The Shop’.

16. TR Teh STHA hFUAT H IcqTed BASR 1 [ L @1 T | HEqHT higdt qo
IF-HITE & e Tanferd TS IUEHU 1 IcTed widl off | 389 3794 & 9
TR ¢ T a9 o794 T8 TR YT aTfud of1 T | 9edT § 38 IEh! GUAT o
anfee frem St QU dep-iieh ST SURINT hieh T o Sdd S aTell 79T Sherdt
ST JEYT L T@T AT | TMER o AT i hiAd! qT SH-hITE o TS ITEhU
T IcTed hH o U Ticanfza fomam | 3u4 snifecy =1 o YeM = qen st
Toeivgar Yem = W arer oft foee arfes enfecy g weis S dTet IcdTed
TS Toh S5 3c1GT T8 o ®9 § [ooh{&d &1 ST e 38k fHasmeni i faw ®
I T @ T Bl | TR gRI A i YeH Hl TGSt & & o ThR
S TgEM hIfSTT aur 30 THEET | 3

Ganga Dhar was working as the production manager in a German
company. The company was producing remote operated high-end kitchen
equipments. He resigned from his job and returned to Patna, his
hometown. In Patna he met Aditya, his old friend, who had been
managing his factory producing steel utensils with old technology.
Ganga Dhar encouraged Aditya for the production of high-end kitchen
equipments. He also promised to help Aditya by providing funds and his
expertise so that the production unit run by Aditya can develop into a big
production house and its investors may get high return on investments.
Identify the kind of ‘source of capital’ provided by Ganga Dhar to Aditya
and explain the same.
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17. ‘Tedl ¥ stean fofiee’ aon ‘sraelt S fdfies’ well o 8 % 3cdied °§ ol 83
2 | g1 HrafEt 1,000 Treft-efiet & 221 96 o S o=t § qon et ufoeaet §
2 | gfeaet @ o= fw @t et & gegest | faoa i 1 i fomn qen
T % HIOH ST Fogl @ 3iedl fAfRE 9% | 8 HFOHl 4 Il <k
Tfied aTel Tasha shrgi o WIEAH @ Hall ol 9@ QX o H o= o1 i foram |

(%) I gig T HI ugEH HITT qo1 36 THATIT |

(@) ‘ommeht godl @ sfea fafwee gr fuifa foqor weem 1 gga=
I | 3

‘Healthy Juice India Ltd.” and ‘Asli Juice Ltd.’ are engaged in the
production of fruit juice. Both the companies sell the juice in 1,000 ml
tetra packs and are in direct competition. To avoid competition, the
management of both the companies decided to merge and formed a new
company ‘Asli Healthy Juice India Ltd.". The new company decided to sell
the fruit juice through the company owned outlets throughout the
country.

(a) Name and explain the ‘Enterprise Growth Strategy’.

(b)  Also identify the channel of distribution decided by ‘Asli Healthy
Juice India Ltd.

18. g UhhAT 1 YW = To=aR I0d T 7 | 39 WA W 3T TN HI
3och@ HINT | 4

The first step in the creative process is ‘Idea Germination’. State the
other steps of this process.

19. dfcral gl 94 A FTashik i qeTs A fovafese™, se ¥ [ A |
fooell adm greg S| 98 W80 ohl faeaa w8 39 918 Hihd & J&d 9 |
T ¥ TrEl T ®H T AR T % I U HEA H G $S YoHcHS HR
W 1 [uly forn | 38 2@ i IHA & H-IE & Tial & fmae wen fafime
TR Sl e 6l Tl i B | 38 i o1 U oy Wi 3 9 35 §9 IR
I ¥ & A= feedi & &M 98g L Tohd & | 9g 9 a1 ThaM o€t 7 |
i it weft v & for fsrfera 9 o 7 &€ 39 3Iaug & fow we gefera smow
o7 | dAferar <fl, &7 & THH fomm arefl 1erE wfgenst ¥ fuefi qen sm=m
3TATEH o AE™ o (1T Teh HieA 1 IO R | Sk o 3&ehl Yoit o6 foTu
T 2,00,000 T Ie feam qor @+t 38 JaY & U suet i e off |
Th T I IraiH [hEMI o = o TFYUl IcdTe i @G o1 war feam qen
Ell T IgH U HY faum K ggrar 9 feaEi & gRiE w1 g
fora | 38 0 T SUSHIR @isfohdl ol it 3= 3cuted & fafie = &
& fou Nt W T |
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(%) 39 sk o1 9M e g aferar ¢t & fomm &t e #@ uiafda
H H g I |

(@) 39 G & YR sl g hifore fSreeht Tamaan s 1 fui afetar
ot 7 form |

(7)) U TRgl g1 qedl o Iooi@ ity e dfetar <ol TSt o6l |Siya e
aredt 7 | 4

Lalita Devi did her post-graduation from Manipur University, Imphal.
She had offers to join reputed firms in metropolitan cities like Delhi and
Mumbai. Instead of joining any of these firms she decided to do some
creative work in Imphal. She observed that a special type of chilli is
grown by the farmers of most of the villages around Imphal. This chilli
has a distinct flavour and the pickle made from it has a taste that may be
liked by many people in other parts of the country. But the farmers were
neither trained in the farming of this kind of chilli on a large scale nor
was there a secured market for their produce. Lalita Devi met eighteen
like-minded women of the area and formed an organization for doing the
business of pickle manufacturing. Each of them contributed
T 2,00,000 towards its capital and were equally responsible for its
management. On one hand they assured the farmers to purchase the
chilli produced by them and on the other hand, the organization with the
help of the local agriculture department arranged for the training of the
farmers. They also employed 10 local unemployed graduate girls for doing
the various operations of pickle manufacturing.

(a) Name the process that helped Lalita Devi in ‘converting an idea
into an opportunity’.

(b) Identify the kind of organization that Lalita Devi had decided to set
up.

(c) State any two values which Lalita Devi wants to communicate to
the society.
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T amw fafee’ QUi Te=Ticla garrs wsiEr, e e, ifsem’, @i qen
Sefecae mrh fou mu €, & fwfar & | f9 & € gE % emum w iy A

20.

98

Icqrfed aefiat & ‘au-fo=ade-amr &1 moET hHifSu |
e
fosra e wfa | oftadg @ra afd | ol == ufd
NiC EEOH EEOH a1g
T T z
i 10,000 3,000 35,000
Hifgam 15,000 8,000 35,000
NI 20,000 13,000 70,000
ESITRK 35,000 20,000 1,50,000

‘Good Wash Ltd.” are the manufacturers of different sizes of fully

automatic washing machines marked as ‘small’, ‘medium’, ‘large’ and

‘industrial’. From the information given below, calculate the ‘Break-Even

Quantity’ of the machines manufactured per month.

Information :
Unit Selling Unit Variable | Fixed Expenditure
Machine Price Cost Per Month
< < <

Small 10,000 3,000 35,000
Medium 15,000 8,000 35,000

Large 20,000 13,000 70,000

Industrial 35,000 20,000 1,50,000
9
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21. TUSA 20 99 ¥ Gead a9 TAMIS SIS gohi o HHIAT & | ShFA 3Tl
A H @ off T BT & H 39k ISl o SAYfaehalell g STHATG g
% U HEFAT, I AT I 8 gh T HE™ L A, THIT T Lol ohl
et a1 H a1g off | IuHIHISA ST i1 T H & JAT 75 AT 95 A
g5 | Rl 6T foshl 9 BT 3% @ S | aierma: R A g 3w A
Tg | OO YeEA A THE i foveryer foRm qen 3 Q1 wHT 1 SATUUE HH H
ol forn ek shror woern 3c9a 88 off | 390 | U a8 oft S ol % gl
% QTR sl ATgfd el off qen gudl 98 S wwEdl ol g st off |
ST | IUAIBTST <l U o6 Glaremd s & der fomr gien ufyr forw goh g
HH IE B U | 359 HiFeai o e AT HAE-IE & S bl 16 i & foIQ
100 SUSFTR Jaehi ol Wi et W @ o1 ol foren, foem afgamati @ foro
50% JTRETU AT, fS=gi= Trnfad #Rfil g %S b1 i T o |

(%) Tem fouum qun gig SYETEAT Hl I ATIRONSAT hl 989 9 Il
HIT fSeht =reit 30gth aigeae H A1 T |

(@) TH UH qed 6l ggar Hft Hive 8 Geam go fafiees’ aue =1 dfva
T ITEd 8 | 4

‘Sultan Trucks Ltd.” are the manufacturers of commercial trucks for the
last 20 years. The company had been doing good business but recently
due to irregular supply of parts by its suppliers, the company could not
make timely delivery of trucks to the parties who had booked their
trucks. The customers cancelled their bookings and there were very few
new bookings. The sales of the company started declining that resulted
into losses. The management of the company analyzed the problem and
decided to take over those two firms because of whom the problem arose,
one of them was supplying tyres for its trucks and another axles to the
company. The company also extended credit facilities to the customers
and started booking the trucks without charging any booking amount. It
also decided to employ 100 unemployed youth, with 50% reservation for
females to take up the cleaning operations, using the imported machines,
inside the factories as well as the surrounding areas.

(a) Identify and state the concepts of ‘Enterprise Marketing and
Growth Strategies’ discussed in the above paragraph.

(b) Identify any one value which ‘Sultan Trucks Ltd.” wants to
communicate to the society.
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22. ‘SR I FT AEIIHAT & I R MG DT AN T SHTHE hl Thardl
6 T Hoft 3 |’ <ffh suh % fou wfosy § @A g @ R, SEe o T
I3 Tl B | Ig Uss TR ITMAT b1 AR Bl qUSH T T AT qAT
3T o ITTHR Gl T IcdTe fohaT ST a1 FATE JgH <hl AT |
(%) 3w dfeal B =fia sraumon i ug=me i |
(@) 3Tt g UEEE i TS IEYUNON W HrSl-ad Midiare i fAsarfed s
o gl o9 alient =l THEISY | 6

‘One of the keys to business success is to anticipate what the market will
want or need.” Since it is not possible for an entrepreneur to see into the
future, there is one best way. This ‘best way’ will help the entrepreneur
to understand the market and produce goods or provide services
accordingly.

(a)  Identify the concept discussed in the above lines.

(b)  Explain any three ways in which an entrepreneur can perform the

activities related to the concept identified.

23. ‘YT @TET o AW Y K | TS TSN TR 1 W/ T 20,00,000 T Hlh Th
WL et | 384 T 8,00,000 TF & a9 fhu @am ¥ 12,00,000
W.H.3ME. F 6% di¥e hl @ U FO form | IGh ATk fasha 3w
T 12,00,000 91 fospa fhU @ Wl W AW T 7,00,000 B | 98 A
HUATRET I T 2,00,000 A I T PTAH Bl 8 | S hl G 25% 3 |

3Rl A o ot Fferfaa & omn st 7
(%) o w o
(@) T W IS 6

Karan has started a restaurant on National Highway No.1 in the name of
‘Apana Dhaba’ by spending ¥ 20,00,000. He invested ¥ 8,00,000 of his
own and took a loan of ¥ 12,00,000 from SBI at the rate of 6% per
annum. His monthly sales revenue is ¥ 12,00,000 and the cost of goods
sold is ¥ 7,00,000. He pays monthly salaries of ¥ 2,00,000 to his
employees. The rate of tax is 25%.

You are required to calculate the following for Karan :
(a)  Return on Investment

(b)  Return on Equity
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24, TH I5.375.21.-375.375.TH. a6 TaW o AW, GieATal qon Fuveng |
‘Farferel Afefe’ o AW ¥ gars H A gHH @icll | 3 gHMI hl THAT 8
IR et T 3 g9e & fafim vmn § 50 3R gRH @i & | 3§
E-ToHT Jod W hiAl, e q91 Hedm Sl @ &I ¢ a0 STEqarai & Hehe
T @i I off | 3T §8d HH AW W HH RAT | Al 98 F9HE h
fr-ufafer o @@=l &l @ & o g 7 Y §91 @ § e @ |
Ml T HHATNAT 5 UTehi s X HH &AM fean o I7h! = syeeen siga
°feAn off | 30 @S Y9y % hRU IW g IAS FH B M qAT IHA
e fawet 81 T |
STYT ITTDE b YR W HAAH o sH9d H fawardl o fohgl =’ HRo 6
g SIS qT 3% THETEy | 6

Satnam, an IIT-IIM graduate, started three chemists shops at Amritsar,
Patiala and Chandigarh in the name of ‘Quality Medicines’. Encouraged
with the success of these shops Satnam opened 50 more shops in different
parts of Punjab. His strategy was to cut price, focus on lower and upper
middle class and open shops near hospitals. He operated on very thin
margins. But he was not able to maintain sufficient funds to meet the
day-to-day expenses of the business. The staff at the shops did not give
much attention to the customers and there was very poor system of
control. Because of this mismanagement he started incurring huge losses
and his business failed.

Based on the above paragraph, identify and explain any four causes of
business failure of Satnam.
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